
Multiply by 0.01 (B)Find each product.
6.318 × 0.01 = 7.12 × 0.01 =
5.48 × 0.01 = 6 × 0.01 =
6.6506 × 0.01 = 0.9393 × 0.01 =
2.773 × 0.01 = 6.3732 × 0.01 =
3.25 × 0.01 = 0.03 × 0.01 =
1.288 × 0.01 = 9.21 × 0.01 =
7.7348 × 0.01 = 3.2215 × 0.01 =
7.8 × 0.01 = 8.9944 × 0.01 =
9.1618 × 0.01 = 8.3768 × 0.01 =
1.62 × 0.01 = 3.7 × 0.01 =
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Multiply by 0.01 (B) AnswersFind each product.
6.318 × 0.01 = 0.06318 7.12 × 0.01 = 0.0712
5.48 × 0.01 = 0.0548 6 × 0.01 = 0.06
6.6506 × 0.01 = 0.066506 0.9393 × 0.01 = 0.009393
2.773 × 0.01 = 0.02773 6.3732 × 0.01 = 0.063732
3.25 × 0.01 = 0.0325 0.03 × 0.01 = 0.0003
1.288 × 0.01 = 0.01288 9.21 × 0.01 = 0.0921
7.7348 × 0.01 = 0.077348 3.2215 × 0.01 = 0.032215
7.8 × 0.01 = 0.078 8.9944 × 0.01 = 0.089944
9.1618 × 0.01 = 0.091618 8.3768 × 0.01 = 0.083768
1.62 × 0.01 = 0.0162 3.7 × 0.01 = 0.037
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